
 
Hand records and commentary for the test LIN file 

 

 
 

   [ J 2 

   ] 7 5 4 

   { Q J 7 6 4 

   } 7 6 2 

 [ A K Q 9 6   [ 10 7 5 4 3 

 ] Q J 9 3   ] A 6 

 { A 10   { 9 

 } A 3   } Q J 8 5 4 

   [ 8 

   ] K 10 8 2 

   { K 8 5 3 2 

   } K 10 9 

This is a good slam for E/W. Even played by 

West on a heart lead it relies on only one of 
two finesses. If East can open 2[ to show a 
weak two-suiter with spades, West is very 
likely to drive to slam if given even the slightest 
encouragement. Likewise, where East passes 
and West opens 1[, my preference, East will 
raise to game, perhaps via a 4{ splinter bid, 
and slam will be reached. The toughest start is 
2NT from West, but even then a transfer break 
should get a cuebid out of East and then we are 
off to the races. 

   [ 10 9 5 4 

   ] A K Q 9 2 

   { 10 5 2 

   } 4 

 [ A 8 3   [ K J 7 2 

 ] 10   ] 8 4 

 { A K Q J 7 4   { 6 3 

 } 9 7 2   } A K Q J 3 

   [ Q 6 

   ] J 7 6 5 3 

   { 9 8 

   } 10 8 6 5 

A second E/W slam. This may be tough to 

reach after 1} – 1{, but I would make a strong 
jump-shift of 2{ with my solid suit and 
outside ace, and now it might go: 2[ – 3{ – 
3] – 3[, and it becomes clear that there is no 
heart wastage and a lot of winners. East 
continues with 4} or 4{ and West needs only 
to appreciate the value of the singleton heart 
for slam to be reached. 
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   [ 10 

   ] A 6 4 

   { J 9 8 

   } A J 10 9 5 2 

 [ A K Q J 6   [ 9 8 4 2 

 ] 9 8 5 2   ] Q 10 3 

 { Q 10   { A K 7 3 

 } Q 4   } K 7 

   [ 7 5 3 

   ] K J 7 

   { 6 5 4 2 

   } 8 6 3 

No respite for N/S in the bidding as E/W will 

sail into the spade game, but this time they can 
do something about it on defence. Only a 
diamond lead from North lets 4[ through, but 
that may happen quite often as many players 
dislike leading aces at trick one. And even 
cashing the ace of clubs does not end the 
danger for the defence as North may 
occasionally still switch to a diamond, not 
seeing the danger, and on a different layout a 
diamond could be the winner. 

   [ K 10 6 5 4 

   ] K 5 

   { K J 3 

   } 10 9 6 

 [ 8 2   [ A 

 ] Q 10 7   ] A J 9 6 4 3 

 { 10 9 8 4   { Q 7 5 

 } K J 8 2   } A Q 7 

   [ Q J 9 7 3 

   ] 8 2 

   { A 6 2 

   } 5 4 3 

N/S may get into the auction but they had 
better not let the ten-card spade fit go to their 
heads as 4[ doubled is way too expensive at -
1100. They are both too balanced to get that 
high when vulnerable (Ihope). E/W make 4] 
and will normally get there whatever N/S may 
bid. Even playing four-card majors, West does 
best to raise to 2] with three decent hearts and 
a weak doubleton in a side suit and now East 
will simply bid game for an easy +650. 

   [ Q 10 7 2 

   ] 6 2 

   { Q 5 4 3 2 

   } K 6 

 [ K 9 3   [ A J 5 

 ] Q 10 4 3   ] 9 7 5 

 { 7   { K J 10 8 6 

 } A 10 9 8 2   } J 7 

   [ 8 6 4 

   ] A K J 8 

   { A 9 

   } Q 5 4 3 

Where South opens a weak no trump, he will 

often play there and struggle badly. After a 
club lead to dummy's king, there will be no 
possible entry to dummy so declarer may give 
up on diamonds and instead take the heart 
finesse. He has only four tricks but even on 
good defence rates to come to one more as the 
defence usually has to give him a second trick 
in a minor. Where West comes in with a two-
suited bid, the friendly layout should allow 
him to go plus, but not enough with +200 
normal on defence. A 1} opening from South 
also usually gets his side to 1NT. 

   [ Q 2 

   ] 10 8 5 

   { A K 10 4 3 

   } A 10 7 

 [ K 9 7 4   [ A J 6 5 

 ] Q 9 4 2   ] A J 7 6 

 { 8   { 6 

 } K 5 4 3   } J 9 8 6 

   [ 10 8 3 

   ] K 3 

   { Q J 9 7 5 2 

   } Q 2 

E/W can make 3[ by getting the clubs right, 
but N/S will more often declare the contract 
thanks to their big diamond fit. N/S have nine 
tricks and the key will be to go plus as -50 in 
4{ will be poor, -140 against 3[ awful. 
Should East open the bidding? Probably not 
when vulnerable, but many will do so. Three-
suiters are often not as good as they appear to 
be. 
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   [ A 9 8 6 

   ] K 6 

   { A 9 7 

   } K Q 5 3 

 [ K 3 2   [ Q J 7 5 

 ] A Q 10 9 8 4 3   ] J 7 5 

 { 10   { 8 4 2 

 } A 2   } J 9 8 

   [ 10 4 

   ] 2 

   { K Q J 6 5 3 

   } 10 7 6 4 

E/W can make 3], while N/S make ten tricks 

in diamonds or, if spades are not led early, 
eleven as the ]K provides a parking place for 
South's spade loser. Anyone who gambles out 
3NT, perhaps after a slightly off-centre 3{ 
opening from South and 3] overcall, should 
fail,by a trick after a heart lead. Unlucky for 
North if partner did pre-empt, because he only 
needs the expected seventh diamond to have 
nine tricks.  

   [ 7 2 

   ] Q 9 6 

   { A Q 10 8 

   } Q 8 5 3 

 [ K 9 6   [ A Q 10 5 

 ] 4 2   ] A 8 7 5 

 { K J 6 5 4   { 9 7 3 

 } J 9 6   } 10 4 

   [ J 8 4 3 

   ] K J 10 3 

   { 2 

   } A K 7 2 

Usually, South will open 1} in fourth seat. At 

this vulnerabilty, there should be some 
competition, maybe 1{ from West and, if 
North does not jump to 2NT, 2{ from East. 
N/S make eight tricks in NT, and nine if East 
does not find a low spade switch when in with 
the ace of hearts, and North may well jump to 
2NT over a 1{ overcall, revaluing his diamond 
holding. If we assume perfect defence, then 
N/S's best spot is a club partscore, where they 
can achieve +130, and they will surely win the 
auction at most tables. 

   [ K 8 6 5 2 

   ] 9 

   { Q 10 9 3 

   } Q 4 3 

 [ J 9   [ A Q 4 3 

 ] J 10 7 6 5 3 2   ] Q 4 

 { 4 2   { A 7 5 

 } A 10   } K 9 6 5 

   [ 10 7 

   ] A K 8 

   { K J 8 6 

   } J 8 7 2 

East will show a strong no trump, either with 

his opening or rebid, and that should ensure 
that his side declare a heart contract at pretty 
well every table. The question will be whether 
they bid the game, which is basically on the 
spade finesse. My guess would be that West 
will most often invite game and East decline 
the invitation, so that +170 will be the most 
common result, but a sizeable minority will 
drive to game as West. 

   [ 7 

   ] J 8 

   { 7 6 5 4 

   } A 10 8 6 4 3 

 [ A K 8 6   [ J 10 5 

 ] K 6 4   ] A Q 10 5 2 

 { Q J 3 2   { A K 9 8 

 } Q 7   } 5 

   [ Q 9 4 3 2 

   ] 9 7 3 

   { 10 

   } K J 9 2 

The top scoring contract is 6] by E/W but the 

best contract is 6{, as that will often make 
without needing the spade finesse, the long 
hearts providing two spade discards from the 
West hand. As getting to any slam should score 
well, I would be happy to play 6{, just as if the 
scoring were IMPs. After 1] – 1[ – 2{, West 
has to use fourth-suit-forcing as he is too good 
for 4]. East bids 2[ and now West's 3] is 
forcing. If East cuebids, momentum may get 
the partnership to slam, though usually in 
hearts. 
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   [ 9 4 

   ] 10 7 4 2 

   { 8 6 2 

   } K Q 9 7 

 [ K Q 10 6 2   [ 3 

 ] Q 8   ] K 6 3 

 { 10 9 4   { A K Q J 3 

 } J 6 3   } 10 8 5 4 

   [ A J 8 7 5 

   ] A J 9 5 

   { 7 5 

   } A 2 

South opens 1[ and North should scrape up a 

1NT response. East can double for take-out 
and South may rebid 2] and play there. 
Despite the bad spade split, 2] looks as though 
it should make OK unless declarer is very 
careless. If East goes on to 3{ there will be 
eight tricks and -50 should be a fair score for 
E/W. If South passes over 1NT doubled, West 
will also pass. This will be great for E/W as the 
contract will surely go at least one down and 
maybe two. 

   [ Q J 10 9 

   ] K J 8 3 

   { K J 6 5 

   } 2 

 [ K 8 5 3 2   [ 7 

 ] A 10 7 2   ] Q 5 

 { A Q 8   { 9 4 3 2 

 } 4   } K 10 9 8 7 3 

   [ A 6 4 

   ] 9 6 4 

   { 10 7 

   } A Q J 6 5 

It is normal for East to respond 1NT to the 1[ 
opening, but when West rebids 2] he will 
have an impossible choice. 3} may be the best 
call in theory but it will attract a sharp double 
and be very expensive. 2]/[ will also fail 
badly but the penalty will be nothing like as 
bad as there will be no double. If East passes 
over 1[, that will work well this time as South 
protects with 1NT and plays in 2NT after 
North uses Stayman. That is a close contract 
but will usually succeed. 

   [ 10 4 2 

   ] A K J 6 2 

   { Q 10 3 

   } J 9 

 [ J 7 6 5   [ A 8 3 

 ] —   ] 10 9 4 

 { A K 9 8 6   { J 7 5 

 } K Q 10 7   } A 8 3 2 

   [ K Q 9 

   ] Q 8 7 5 3 

   { 4 2 

   } 6 5 4 

North has a borderline opening bid at this 

vulnerability – I would not, for example, open 
1] if playing a forcing no trump response as 
the rebid is ugly. Most will open 1] and South 
raise to 2] or, if playing that way, 3] pre-
emptive. West doubles either way and East will 
presumably show his clubs. N/S make eight 
tricks in hearts but E/W ten tricks in clubs or 
diamonds – maybe even eleven in clubs if the 
defence is inaccurate. -100 in 3] will 
therefore score OK for N/S 

   [ K J 8 5 

   ] A 8 4 3 2 

   { K 2 

   } 8 7 

 [ 9   [ A Q 10 4 2 

 ] K Q J 9   ] 10 7 

 { J 10 9 8 4 3   { A 5 

 } 9 5   } K Q 10 3 

   [ 7 6 3 

   ] 6 5 

   { Q 7 6 

   } A J 6 4 2 

West should respond 1NT to the 1[ opening 
and some Norts will overcall 2]. If West can 
double for penalties or East for take-out, 
converted by West, this will be a bloody affair. 
The vulnerabilty suggests competing, but the 
hearts are weak and the spades badly placed. 
If North passes, East rebids 2} and West 
converts to 2{, where he plays. This will often 
score +130, but the defence can establish a 
club over-ruff, or maybe a heart ruff, to hold 
it to nine tricks. 
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   [ Q 10 9 5 

   ] Q J 6 5 2 

   { — 

   } 7 6 4 3 

 [ 8 6 4 3 2   [ A K J 7 

 ] A 8 4   ] 7 3 

 { Q 10 3   { J 8 5 4 

 } J 5   } A Q 8 

   [ — 

   ] K 10 9 

   { A K 9 7 6 2 

   } K 10 9 2 

N/S belong in hearts, where they make about 

nine tricks, losing a heart, two clubs and a 
spade. Meanwhile, E/W will lose a trump trick 
in one way or another in a spade contract and 
come to eight tricks, making 3[ down one a 
good save. If East is declarer on three rounds 
of diamonds and a club switch, he must put up 
the ace to avoid a second diamond ruff or will 
make only seven tricks. 

   [ A 6 5 4 

   ] 7 3 

   { K 5 4 3 

   } J 4 2 

 [ 10   [ K Q 9 8 3 2 

 ] K J 9 8 6 4 2   ] Q 

 { 6 2   { Q J 10 8 

 } K 10 8   } Q 5 

   [ J 7 

   ] A 10 5 

   { A 9 7 

   } A 9 7 6 3 

Some will open 3] despite the vulnerability 
and broken suit, while the more classical 
bidders will open 2] (weak) or pass if not 
playing weak twos. Any heart pre-empt may 
end the auction and seven tricks should be 
made on careful defence, though eight will 
sometimes be allowed. Where West passes, 
East can open 1[ or a weak 2[ and may play 
2[. Playing both spades and diamonds from 
the top will lead to a fortunate +110, while 
getting to dummy with the }K and running 
the [10 will be less successful, though entirely 
reasonable. 

   [ K 5 4 

   ] K 9 5 

   { A 8 3 

   } A 9 8 7 

 [ 3 2   [ J 9 8 6 

 ] A Q 7   ] 10 8 6 4 3 2 

 { 10 9 7 4   { K 5 2 

 } Q J 4 3   } — 

   [ A Q 10 7 

   ] J 

   { Q J 6 

   } K 10 6 5 2 

North has a weak no trump and South will use 

Stayman then bid 3NT. Where North opens 1} 
and rebids 1NT, South will simply raise to 3NT, 
so this will be the almost universal contract. 
Say that East leads a heart to the ace and West 
returns a heart. Declarer ducks, wins the third 
round and plays a club to the king. He is likely 
to make an overtrick now. But if West puts in 
the ]Q at trick one declarer will need second 
sight not to win, and now the contract will 
surely fail. 

   [ J 6 2 

   ] A K Q 6 5 

   { 9 5 

   } A Q 2 

 [ 10 3   [ A 8 7 

 ] J 9 7   ] 10 8 4 

 { A K Q J 10 6   { 8 7 2 

 } 9 3   } K J 10 8 

   [ K Q 9 5 4 

   ] 3 2 

   { 4 3 

   } 7 6 5 4 

If West opens 1{ in third seat North has an 
easy overcall, intending to double next to show 
the extra values. South will bid spades and two 
rounds of diamonds followed by the }9 holds 
that to just eight tricks. A 3{ opening may see 
North double then pass the 3[ response, or 
may see North overcall 3] and play there. The 
same defence holds 3] to eight tricks if East 
ducks spades twice. 
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   [ J 9 

   ] K Q 10 6 

   { Q 7 6 

   } K Q 7 5 

 [ A K 8 5 3   [ 10 7 4 2 

 ] 7 3   ] J 9 5 4 2 

 { A J 8   { K 3 

 } 4 3 2   } A 9 

   [ Q 6 

   ] A 8 

   { 10 9 5 4 2 

   } J 10 8 6 

I know some will open a weak NT with the 

West cards but that is really a 1[ opening. 
Either way, E/W should get to play a spade 
partscore and make ten tricks thanks to the 
favourable trump split. Even three rounds of 
hearts, South ruffing with the queen, does not 
gain a defensive trick. Declarer throws a club 
and later pitches another club on the fifth 
heart to avoid a loser in that suit. 

   [ K 9 7 5 

   ] 10 9 4 

   { 10 9 8 3 

   } 5 3 

 [ J 10   [ 6 3 2 

 ] K J 6   ] A Q 7 

 { Q J 6 5 2   { A 7 4 

 } Q J 7   } A 6 4 2 

   [ A Q 8 4 

   ] 8 5 3 2 

   { K 

   } K 10 9 8 

At this vulnerability there should be no 
temptation to open the West hand so East will 
get to open or rebid 1NT and West will invite 
game. The E/W cards fit together quite badly 
and even correct play in diamonds, ace and 
another rather than a horrible finesse, will not 
make more than eight tricks as the defence can 
cash four spades at any time. Making 2NT 
should score well as there will be many pairs 
going down in game. 

   [ A K 10 6 4 3 

   ] J 

   { A Q 8 4 

   } 5 4 

 [ J 2   [ Q 5 

 ] K Q 8 5   ] 10 6 4 3 

 { 2   { 10 7 5 

 } A K Q J 9 2   } 10 8 7 3 

   [ 9 8 7 

   ] A 9 7 2 

   { K J 9 6 3 

   } 6 

N/S have a thin slam in either spades or 

diamonds, requiring that spades play without 
loss, a bit against the odds but not horrible. 
However, it will be rare to get there. Maybe an 
Acol pair who start with a 2{ response from 
South, based on the partial spade fit, might 
have a chance. Where South strts with 1NT or 
2[, West's bidding will make it hard for N/S 
to realise how close they are to slam. I would 
guess that most N/Ss will bid to 4[ and it will 
be a matter of whether E/W save in 5}, -800 
if the defence get two heart ruffs but likely 
only -500 in practice. 


